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Part—1/¥1T-1
General Knowledge, General Studies and General Hindi/

T T, T AR 3R qm <

1. ‘TENTHE AT | — 39 I H T o fohd Wg HTTAM N8 ?

(a) TroemET=s o™ (b) TfTeRETES Ge™

(¢) AT T (d) TrE-EETEs TeM
2. TeAfafed 9 @ =6 a1 u weg TIIY g HT AT FA R ?

(a) TAE (b) T (c) IERY (d) Tt
3. TS e ® yh IUEl R

(@ T (b) R (©) (d)
4. Trafafaa o @ < o1 v agfifs aum &1 3eew g 7

(a) E=feARaa (b) Ti-9T9 (c) Ta@el (d) BUHS!
5. fEETe weg Y g B T A U Aeg-TJH SWG 7, TE B :

(a) ARI-3ATH (b)) HIIE-To (c) JATHIA-3TY (d) -+
6. TIHfciRgd # @ & o1 T vse ‘foare’ w1 fodim see 3§ 7

(a) Tfdarg (b) HeTG (c) Fre (d) T8
7. ‘foumres g umia e’ — 51 aren & fou ue vise Fafafga A g s g ?

(a) TS (b) AT (c) ITEATE (d) Aferfrem
8. ‘S g kT Geha T Alehiferd o1 T S & ?

(a) g {T\Sd Yehd[H (b) ﬂﬁ‘ﬂw (C) <hTH <hl daHT h{Al (d) ohd QIG\QW
9. IHNU-TIM % IMUR W ‘9 eafy Feaferfga @ @ fopm ot o 3=l 3l 8 2

(a) AT (b) TS (c) T (d) H3A
10. F=fafgad @ oA di s wR sfRmaem g 2

(@) 8 (b) = (c) o (d) d
- R ; T TG
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12.

13.

14.

15.

16.

Which of the following State Assemblies passed a resolution in August 2023 to change the
name of the state ?

(a) Kerala (b) Assam (¢) Tamil Nadu (d) Chhattisgarh

Who among the following was not a member of the States Reorganisation Commission ?

(a) K.M. Munshi (b) Fazl Ali (c) KM. Panikkar  (d) H.N. Kunzru

Which of the following has the greatest potential for the generation of tidal power in India ?

(a) Malabar Coast (b) Konkan Coast (¢) Gujarat Coast (d) Coromandel Coast

Which one of the following pairs is correctly matched ?

(a) Mango Shower —  Coastal Tamil Nadu
(b) Bardoli Chheerha —  Tripura
(c) Norwesters —  West Bengal, Assam

(d) Blossom Shower Andhra Pradesh

Famous Gersoppa water fall is situated on which of the following rivers ?

(a) Sharavathi (b) Cauvery (c) Mahanadi (d) Godavari

Match List-I with List-II and select the correct answer from the codes given below the lists :

List-I List-1I
A. TIron and Steel Industry (1) Renukoot
B.  Aluminium Smelting Industry (i)  Gurugram
C.  Copper Smelting Industry (ii1))  Shimoga
D. Automobile Industry (iv)  Khetri
Code :

A B C D
(@) (i) @@ (@v) (i)
(b) @O (i) (v) (i)
(c) () (1) (1) (@v)
(d) @) Gv) (@) (i)

Seriosk p SS E



11.

12.

13.

14.

15.

16.

frafafaa 7 o form T=a faamasy 3 T¥ 1 90 9o & U 3 2023 # T&d@ 91|

fopam 7

(a) A (b) TEH (c) AT (d) BTG
frefaRad & & o TS g 3TN ST Tee & o ?

(a) <.uH. GEA (b) e Al (c) Hh.TH. UNERR  (d) TI.TH. &
A 4 T/ 1 9§ fopay Saia w1 < 3came ohl Jagad avTeHT @ ¢

(a) HTATER d< (b) HIH qC (c) TSRIA @ (d) HRHSH qC
frefaRad gmi 4 @ = v g gafaa g ¢

(a) ATH N1 — W afterTg

(b) SRR BIeT  — B
(c) HA-SEE - Ufvaw S, 3H
(d) sATEm T8 — AT T

Tftrg Ao Stervard e 9 8 frm e fRa g e
(a) IS (b) T (c) HEMS! (d) e

-1 o 1Y G-11 ol AT ShITR T Fro—i o A= fed T i 8 Fel ST G
-1 -1

A, oile-3ed SEm i) Txe
B. UgffEmWEHIER (i) e
C. T W TR (iii)  fam
D. TUTE! I (v) wWa
%<

A B C D
(@) (i) @@ (@v) (i)
(b) @ () (v) (i)
(c) () (1) (1) (@v)
(d) (i) Gv) (@) (i)
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18.

19.

20.

21.

22.

23.

24.

Which among the following countries will host World Telecommunication Standardisation
Assembly (WTSA) 2024 ?

(a) India (b) China (c) Bangladesh (d) Saudi Arabia

Nanda Devi Centre for Excellence for Handloom and Natural Fiber was founded in which
of the following district of Uttarakhand ?

(a) Almora (b) Dehradun (c) Haridwar (d) Kashipur

Recently launched ‘Aarohi Yojana’ by Government of Uttarakhand is related to which of
the following ?

(a) Computer education of teachers and students
(b) Mountaineering
(c) To stop migration

(d) Water conservation

SIMBEX-23 is related with which of the following ?

(a) USA —France (b) Germany — Russia (¢) Singapore —India (d) Japan — Taiwan

Which among the following countries was devastated by Storm Danial in September 2023 ?

(a) Morocco (b) Libya (c) Egypt (d) Taiwan

In which year Kathgodam got connected with Bareilly through railway line ?
(a) 1880 (b) 1884 (c) 1888 (d) 1892

During the Katyuri rule the chief officer to provide justice was called —
(a) Mahadandnayak (b) Mahaamatya
(c) Mahapurush (d) Maharshi

Which Chand ruler was honoured with the title of Bahadur and Zamindar by the Mughal
emperor Shahjahan ?

(a) Baz Bahadur Chand (b) Rudra Chand
(¢) Gyan Chand (d) Laxmi Chand
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20.

21.

22.

23.

24.

frfeTRad o € I |1 o1 fored QU= ATHehTshTor €91 (WTSA) 2024 3! HSfaTH1 s ?
(a) WA (b) == (c) ST (d) Fdl 3T

TET ¢t Tt BR T BR BUSeH T "giel BISa shi TATIHT ITUEE o e 4 9 fop g
THTER ?

(a) ITcHISI (b) <& (c) BigR (d) rEfig

IATEE TR R 31t 211 € 1 & I T8 TR o1 b1 ey e § @ forma 8 2
(a) 31eATIhi Ud foremfRiar <t et e @ (b) AR &

(c) TR Tehd | (d) S Eeequr

fmeed-23 (SIMBEX-23) 1 o @ fopad maifera 8 2
(a) IS —%E (b) THA —FH (c) TR — wra (d) ST — dTga=

frfefed 9 & ®F a1 ¢ faawr 2023 4 e THH 8 Faifee gTfed 53T ?
(a) TREh (b) iferm (c) T (d) qTEaH

for® a9 SIS ! Sl § LT AT b HIEHH § SIS 7307 o7 7

(a) 1880 (b) 1884 (c) 1888 (d) 1892

Sl IMEH o R =T YEH hi ITell Fared TR Shgettdl o7

(a) WEGST™®  (b) WEIFHTE (c) TETIEY (d) Tefy

foh®l =G, ST 1 T STGINE IMESTal  ‘F@IGL T STHiQR’ < 3uTfyr & forfira foram o ¢

(a) IS TEIE TG (b) ¥F T (c) M =< (d) AEHt ==
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25.

26.

27.

28.

29.

30.

31.

From whom a tax namely ‘Doniya’ was collected during the Gorkha rule ?
(a) Hill Pastoralist (b) Traders

(c) Government employees (d) Sepoy

In which district Jakholi fair is organised ?

(a) Rudraprayag (b) Chamoli (c) Tehri (d) Dehradun

In which one of the following tribe married woman is called ‘Bayyar’ ?

(a) Tharu (b) Buksha (c) Raji (d) Jaunsari

Whose original name was Lokratna Pant ?

(a) Premnidhi Pant (b) Gumani Pant (c) Haridatt Pant (d) Pushpesh Pant

According to 2011 Census the population density of Uttrakhand state is :
(a) 166 (b) 189 (c) 201 (d) 191

Match List-I with List-II and select the correct answer using the code given below the lists :

List-I List-1I
A. Valley of Flowers (i)  Pithoragarh
B. Rajaji National Park (i1) Chamoli
C. Gangotri National Park (ii1)) Dehradun, Haridwar, Pauri

D. Askot Wild-life Sanctuary  (iv) Uttarkashi
Code :
A B C D
(@ (@) @) @Gv) ()
(b) (i) () (Gv) ()
() @O @) (i) (@v)
(d) @Gv) (i) @) (1)

Which of the following districts does not share its boundary with Nepal ?
(a) Udham Singh Nagar (b) Chamoli
(c) Champawat (d) Pithoragarh
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26.

27.

28.

29.

30.

31.

TGN I QIR THeh hY fohedl SEeTT ST o ?

(a) UETISI TERS (b) STUTR (c) THH HI=R  (d) &
STl Tl forg S A e 8 7

(a) TSN (b) =HTeh (c) fezll (d) <ETrgd
=1 O 4 fopm Sttt 4 ferafea afgen o1 o= wa1 @ g ?

(a) U&® (b) g (c) TSl (d) ST
ToRErhT g AT TAehicd Ud T ?

(a) S|l U (b) THMIq (c) &g ud (d) g9 Uq
Y 2011 < THUMET o SFTHR ITRGVE T H SHEHEIT T 2

(a) 166 (b) 189 (©) 201 ) 191

-1 1 -1 | GHfeTa <hifor am el o =< U 70 e & T2 3T I AW :

-1
FAl h! T
ASISIRGIRECHIE
T TP 3T
3TEHIC TSI STHIRTH

o oo o»

A B C D
(i) (i) @Gv) ()
(i) (i) @Gv) (@)
(© @@ @) (i) (Gv)
(iv) (i) (i) ()

o o 0

(1A

(a) 3IYTTEE TR

-1
(i) oo
(i)  =wet
(iil) <ETed, BREW, Wt
(iv) Icheft

Rgd SH9CT H © forg wep <l |1 Jurer & gren 78 Bt 2 ?
(b) =HIAT

(c) =HmEd
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32.

33.

34.

35.

36.

37.

38.

39.

40.

Which of the following minerals has a significant contribution in the economy of
Uttarakhand ?

(a) Gold (b) Limestone (c) Silver (d) Copper

In how many categories has Uttarakhand state been classified for various financial incentives
under the MSME Policy-2015 ?

(a) Four (b) Five (c) Seven (d) Eight

When was Mahila Udhyami Vishesh Protsahan Yojana introduced in Uttarakhand ?
(a) 2014 (b) 2015 (c) 2018 (d) 2020

Deen Dayal Upadhyaya Home Stay Vikas Yojana was introduced in Uttarakhand in :
(a) 2015 (b) 2016 (c) 2017 (d) 2018

The age of father is twice as that of the elder son. Ten years hence the age of the father will
be three times that of the younger son. If the difference of ages of both the sons is 15 years,
the age of the father is :

(a) 50 years (b) 55 years (c) 58 years (d) 60 years

Number of wrong answers of the questions attempted by a student is twice as that of right
answers. If the student attempted 48 questions in all, how many questions did the student
solve correctly ?

(a) 12 (b) 14 (c) 18 (d) None of these

N ranks 5" in the class. S is 8" from the last. If T is 6™ after N and is just in the middle of
N and S, then how many students are there in the class ?

(a) 23 (b) 24 () 25 (d) 26

Choose the missing letters in the following letter series :
A Z,X,B,V,T,C,R, 2, ?
(@) E, O (b) QE (c) P,D (d O0,Q

Out of four numbers, the average of first three numbers is 15 and that of the last three is 16.
If the last number is 19, then the first number is :

(a) 15 (b) 16 (c) 18 (d) 19




32, IAUEs i rderaeen § et o 9 fora @l 1 nemaqul S B 7
(a) |HT (b) <ITIeRR (c) =iel (d) s
33. w.wH.w.E. Aifd-2015 % =wia fafv= fadfa dicame 2 saues yew i fohat Sftri o
Fffepd fopam T 3 ?
(a) IR DRE (c) @ma (d) 33
34. ITUES Y Afge I oIy TcHTET IS el TRET <h1 TS oft 7
(a) 2014 (b) 2015 (c) 2018 (d) 2020
35. EHeATe ST T8 ST (2 &) ok Fei Sau@e H yie 6l T ot
(a) 2015 (b) 2016 (c) 2017 (d) 2018
36. a1 1 3Ty &g o i MY & ST 2 | G N IREN [Ual i Y Bie 9 hi 31Y I A
BT | AT T O ShY ST BT SR 15 99 B, A frar <At 3mg R
(a) 5099 (b) 5599 (c) 5899 (d) 60T
37. forelt foremeff gro st o feu T vTota 3Tl Y W Tl SR i g | | Afe fomeff I ot 48
g9 bl gt fohart a1 3 o g &) g fopu 7
(a) 12 (b) 14 (c) 18 (d) 379 T ®Ig T
3. N, BT SI MW | SIAHSIIAWE | IR T, NS TIC DS M WEAATNT S h
T dl e d fercai B & 7
(a) 23 (b) 24 () 25 (d) 26
39. = d T HeR SfEen
A, Z,X,B,V, T,C,R, 2,2
7 focqe ater g
(@ E, O (b) QE (c) P,D (d) 0,Q
40. TR TGS T A, TUH I TS 1 3T 15 & 97 A< 7 Tt o1 30 16 7 | Afe
I~ T 19 8, A IAT T8
(a) 15 (b) 16 (c) 18 (d 19
- S - e



41. First generation of computer was based on which technology ?
(a) LSI (b) Vacuum tube (c) VLSI (d) Transistor

42. Which company of our country has developed super computer ‘Param 8000’ in collaboration
with Indian Space Research Organisation ?

(a) TCS (b) Infosys (c) C-DAC (d) Wipro

43. Cancer causing genes are called :

(a) Oncogenes (b) Operons (c) Mutons (d) Recons

44. Scattered Vascular bundles are characteristic feature of

(a) Monocot root (b) Monocot stem (c) Dicot stem (d) Dicot root

45. Who is the author of ‘Periplus of the Erythrean Sea’ ?
(a) Pliny (b) Strabo (c) Arrian (d) None of these

46. The shrine of which one of the following Sufi Saint is not located in India ?
(a) Sheikh Muinuddin (b) Sheikh Fariduddin
(c) Sheikh Nizamuddin (d) Sheikh Nasiruddin

47. Who among the following had started the policy of economic decentralisation ?

(a) Ripon (b) Lytton (¢) Cornwallis (d) Mayo

48. At which place ‘India League’ was established in 1875 A.D. ?
(a) Bombay (b) Delhi (c¢) Chandigarh (d) Calcutta

49. “Union of States” mentioned in Article 1 of the Indian Constitution is derived from which
of the following ?

(a) Irish Constitution (b) British North American Act, 1867

(¢) American Declaration of Independence (d) Swiss Constitution

50. Who among the following was the Vice-President of the Constituent Assembly ?
(a) Vallabhbhai Patel (b) Jawaharlal Nehru
(c) Mahabir Tyagi (d) H.C. Mookherjee

Seriosk 5 N SS E




41. vom el o Hre ford Tenfireh! X smaTia & ?
(a) TCESTE  (b) doRH W (c) feTeass (d) giforee

42. TUR < 61 fop Sl 3 WRAR SFaiet ATHE™ TS & T § GO Sl TH 8000
forepféra fopam @ 7

(a) drEum (b) THIHG (c) Hi-g% (d) fasn
43. HHL HH S i Hal AT &

(a) SAT=<hisig (b) AR (c) R (d) |
44. TR g0 HaE g fafdm o 8 &

(a) T ST S % (b) T ST+

ORECIELEIGEE? CORECIELEIEEED

45. Ut 3T < SRR HY S AEEH B E 7
(a) forft (b) & (c) TeA (d) 3T 3 i T

46. e 1 O form gt T <Al gUTTE WA A fR@ AE ® 7
(a) IEYEIER (b)) I HlgER (c) YEfomda  (d) I TN

47. Trefafaa 09 feram anfdies fashiientor <t ifa amosy < oft 7
(a) Ta= (b) forem (c) AT (d) T

48. frE w1875 3. § ‘sfugan o < v <h = ?
(a) TS (b) feeett (c) TG (d) Herehdl

49. WA Gfag™ o e~ 1 H feafaa “Usi o1 da” ffoiiad # & fpae form mn g
(a) JATIT Hferer (b) ferfes sadt smfen stffem, 1867
(c) TEd=rd hi STATERT IgEmoT (d) feam afaam

50. fr=fafgd @@ F dfaum gw s a9 ¢
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Part -2
Agriculture Science

51.  Which of the following is a Vitamin-A rich vegetable crop ?
(a) Yellow Pumpkin (b) Cauliflower
(c) Potato (d) Tomato

52. Pant Shubhra is a variety of :
(a) Cabbage (b) Knol Khol (c) Cauliflower (d) Broccoli

53. Aonla is also known as :
(a) Chinese gooseberry (b) Australian gooseberry
(c) Indian gooseberry (d) None of these

54. Plant Protection and Quarantine Act was passed in which year ?

(a) 1914 (b) 1920 (c) 1922 (d) 1960

55. ‘Chakaiya’ is a variety of :
(a) Guava (b) Ber (c) Pear (d) Aonla

56. Karnal Bunt disease is found in which crop ?

(a) Gram (b) Pea (c) Mustard (d) Wheat

57. Ergot diseases is not associated to which crop ?
(a) Sorghum (b) Rye (Secale cereale)
(c) Pearl Millet (d) Chickpea

58. Where Central Potato Research Institute is situated ?

(a) Meerut (b) Patna (¢) Shimla (d) Darjeeling

59. The botanical name of Mung bean is

(a) Vignaradiata (b) Vigna mungo (c) Vigna anguiculata (d) Avena sativa

60. National Seed Corporation established in which of the following year ?
(a) 1978 (b) 1968 (c) 1966 (d) 1963
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Y o
51. frafefea o @ & € foerfim- 8 W gt F waaT B 7
(a) oo g (b) Fereft (c) 3T
52. ud yuT fhe R
(a) St (b) Tia Meft i (c) FomTHt <t
53. SATIAT I 38 I § Ht STHT ST &
(a) TS TEE  (b) AT T () WA et
54, UTCT GUEUT U S AT 61 ford o9 | urfia femam mam e ¢
(a) 1914 (b) 1920 (c) 1922
55. ‘FehAT USTIA B
(a) IFAHEG hl (b) SR (c) TR i
56. HETA 5 U fohd HHA HYRIT ST S 7
(a) = (b) HT (c) T@E
57. 3Tie I ford wEel & Hefud A8 & 7
(a) SR (b) TS (Hihat TifEA) (c) ™[
58. 1T 3TTc] ITEH TEUH hal ferd § ?
(a) T3 (b) e (c) Tsmem
59. T T IEH(h AT =l
(a) femmifever (o) fomgm OREEIRICI
60. T i farm <ht wermoen frforRaa o & fovg o < meft ¢
(a) 1978 (b) 1968 (c) 1966
SSE o 15

(d) CHIX

(d) Shehiett <6t

(d) T8 A IS T

(d) 1960

(d) Afaett 6

(d) T

(d) =T

(d) ersifer

(d) FerTT Hergen

(d) 1963
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61. Who is the father of Economics ?

(a) Amartya Sen (b) Adam Smith (c) A. Marshall (d) L. Robbins

62. The reward of Management is

(a) Wage (b) Rent (c) Profit (d) Interest

63. NABARD came into existence in

(a) 1980 (b) 1982 (c) 1975 (d) 1977

64. “Wealth of Nations’ is written by

(a) A.Marshall (b) J.S. Mill (c) L. Robbins (d) Adam Smith

65. Etawah Pilot Project came into operation in the year of

(a) 1947 (b) 1948 (c) 1962 (d) 1965

66. Blue Revolution is associated with
(a) Fertilizer Production (b) Fish Production

(c) Potato Production (d) Meat Production

67. The relative percentage of sand, silt and clay in a soil is called :

(a) Soil Structure (b) Soil Formation  (c¢) Soil Texture (d) Soil Composition

68. Which of following is pressurized irrigation system ?

(a) Check basin irrigation (b) Furrow irrigation
(c) Sprinkler irrigation (d) Border irigation
69. The first irrigation in wheat should be given after of sowing.
(a) 5-7 days (b) 8-12 days (c) 20-25 days (d) 30-35 days

70. Which one is not a green manure crop ?

(a) Dhaincha (b) Sanhemp (c) Cow-pea (d) Berseem
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61. AT & S T & ?

(a) I T (b) Ten fony (c) U. A
62. JEYH T Tfdher 2

(a) weigdl (b) TH (c) @™
63. HTETE 3fEdca H M

(a) 1980 (b) 19827 (c) 19751
64. ‘AU IAH W = g0 Tt it 7

(a) U. TA (b) J.uE. e (c) T, Ufs
65. 3TN UIeHE o Iy H I[& BT |

(a) 1947 (b) 1948 (c) 1962
66. el shifd Y gefa @ |

(a) SHH IAET  (b) HSAT ScqTEH (c) 3T 3cdre
67. T H T, TE & &l o1 HIUTETeh fwrd el &

(a) Tl SHEE (b) 1 Fmor (c) Ta&I e
68. Trmferiga # & s ot qare Fenfera fi=ms ugfa g 7

(a) TR fafer =g (b) &s fomms (c) Sor b=
69. 7 % YT % g vEe! =g HE =Y |

() 5-7fAsg  (b) 8-12feFsIg () 20-25 TG
70. I i 8 @Te areht B T8 § ?

(a) &= (b) &3 (c) s
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(d) Ta. Ufs=g

(d) =~

(d) 19771

(d) weH fery

(d) 1965

(d) TTE 3T

(d) HaT 3FAgIa

(d) st =g

(d) 30-35 feT =Te
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71.  What is the name of protein found in maize ?

(a) Zein (b) Albumin (c) Globulin (d) Casein

72. The chemical formula of Gypsum is

(a) CaSO, (b) CaSO, 2H,0  (¢c) CuSO, 2H,0  (d) MgSO, 7H,0

73. What is the diameter of silt particles ?

(a) 2.00-02mm (b) 0.20-0.02 mm (¢) 0.02-0.002 mm  (d) Below 0.002 mm

74. Which biofertilizer is used as green manure in rice field ?

(a) Dhaincha (b) Rhizobium (c) Azolla (d) Azotobacter

75. Which one is the most efficient method of irrigation ?
(a) Sprinkler method (b) Drip method
(¢) Furrow method (d) Check Basin method

76. Indian Institute of Soil Science is located at :

(a) New Delhi (b) Calicut (c¢) Hyderabad (d) Bhopal

77. Indian Institute of Pulses Research is located at :

(a) Varanasi (b) Kanpur (c) Allahabad (d) Jhansi

78. Khaira diseases of rice is caused due to the deficiency of

(a) Zinc (b) Calcium (c) Copper (d) Nitrogen

79. Under which method of sugarcane planting setts are placed inclined instead of flat ?

(a) Trench Planting (b) Furrow Planting

(c) Flat Planting (d) Trench and Furrow Planting
80. The panicle initiation to flowering stage is considered as in rice crop.

(a) Reproductive Phase (b) Maturity Phase

(c) Vegetative Phase (d) Grand Growth Phase
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72.

73.

74.

75.

76.

77.

78.

79.

80.

TerehT T I ST STl T Sl T A 3§ 7

(a) S (b) TeE (c) Tegfer (d) FEH
Neem =1 TamES T 7
(a) CaSO, (b) CasO,-2H,0  (c) CuSO,-2H,0  (d) MgSO,: 7H,0

féree & Ul 1 A1 feramT BT @ ?

(a) 2.00-0.2FmR. (b) 0.20-0.02 .  (c) 0.02-0.002 fimft. (d) 0.002 firft. T HH

I 9T A-39Ch U & @d § g @ie o &9 IqIn feham Srar g ?

(a) &= (b) TESiferm (c) USrer CYRSICIECTA
s Fr et e fafr =t & 2

(a) SR far  (b) T REE R (o) Fsfafa (d) Far fafy
R a1 fors wreere feua 2 -

(a) T8 feeeht (b) =hrefiehe (c) BeTaTg (d) et
I GeTe STHYH e fRa 2

() SO T (b) YA (c) SATEETE H (d) wrE A

o | @ T Y HHt S SR BT 2 |

(a) TS (b) hfcaad (c) I (d) TEeISA

=11 o <6t ferg farfer <6 3Tt Sed b1 aHaet o ST YehTd ¢oht T SATAT 8 7
(a) @ faf/mor (b)) e fafermo (c) Tuad faftgor () @ 9 % falRrmy

T 3l BT H SIS el 3T hi e o T ST ST 8 |
(a) SHHBA  (b) NIl Bl (c) Ik ghgshia (d) o gfg e
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81. Isolation prevents which of the following ?
(a) Mechanical mixture (b) Undesirable pollination

(c) Diseases spread (d) All of these

82. Pyrilla insect damages to which crop ?

(a) Wheat (b) Gram (c) Mustard (d) Sugarcane

83. Which crop is not a fodder crop ?
(a) Oat (b) Cow-pea (c) Berseem (d) Soybean

84. What is called when more than two crops are grown on the same field in a year ?
(a) Multiple cropping (b) Relay cropping
(c) Inter cropping (d) Mixed cropping

85. Which one of the following is not a Rabi crop ?
(a) Bajra (b) Barley (c) Gram (d) Khesari

86. What is the method of propagation of pear plant ?
(a) Seed (b) Cutting (¢) T-budding (d) Root cutting

87. The seed rate of radish is
(a) 4-5kg/ha (b) 8-10 kg/ha (c) 15-18 kg/ha (d) 20-22 kg/ha

88. Jack-fruit is commonly propagated through
(a) Cutting (b) Grafting (c) Seed (d) Root

89. What amount of P,Oy is found in Double Super Phosphate (DSP) fertilizer ?

(a) 16-18% (b) 32% (c) 46-48% (d) 20%

90. Which one of the following is not an oilseed crop ?

(a) Groundnut (b) Soybean (c) Cow-pea (d) Mustard

91. Rekha, Ritambhara and Vijay are malt purpose variety of
(a) Rice (b) Wheat (c) Barley (d) Oat

Seriosk ” SS E




81. 3rerme fefeiRaa # & foreehl Yshar & 7
(a) A6 EGET  (b) HFAASHIE WA (c) W I hetral (d) T Eft e

82. UG hie b U i ThEH TgaTdl & ?

(a) TE (b) =1 (c) &l (d) T

83. TR hl S H e TR & ?
(a) % (b) <ifern (c) s (d) TRTEH

84. ThH B WA H Uh aY H QI H MUk HHA A &, A SH FTHad & ?
(a) SEHTC @l (b) Tror wt (c) FAwIM @A (d) Tfa et

85. Tafafgada R @ A wHT TR B ?
(a) SR (b) S (c) =1 (d) ©ER

86. ATIITA o Wi W yae forg fafr A g 2 2
(a) & (b) =i (c) d-wfen (d) & P

87. el Hrsfia g |
(a) 4-5Tpm/g. (b)) 8-10 TFuM. /2. (c) 15-18Tmmm./a.  (d) 20-22 . /2.

88. hegd 1 YaEH UMH=IC: & g fra ST 2 |
(a) T (b) TfeaT (c) & (d) 18

89. S T HIThe (SITHTT) Iateh 1 FohcHl WIS T Py O TRIT A & 7
(a) 16-18% (b) 32% (©) 46-48% d) 20%

90. 9= T I sk focta wEA TE & 7
(a) TR (b) TRTEH (c) oAt (d) TEl

91. @I, KA IR [ Hee TISH &g i Re 2 |
(a) =Tt (b) TE (c) ST (d) =%
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92. What is the use of Dibbler in Agriculture ?

(a) Harvesting (b) Seed Sowing (c) Irrigation (d) Weeding

93. The equipment used to apply chemicals in liquid form are known as

(a) Pump (b) Spreader (¢) Duster (d) Sprayer
94. Dirilling of seeds and fertilizers are done simultaneously by equipment.

(a) Kera and Pora (b) Ferti-cum-seed drill

(c) Country plough (d) Rotavator

95. Which one of the following is considered as heart of seed drill ?
(a) Seed metering device (b) Seed hopper
(c) Fertilizer hopper (d) Shaft

96. Which material is used in making Disk of disk plough ?
(a) Castiron (b) Mild Steel (c) High Carbon Steel (d) Chrome Steel

97. A part of Sprayer in which spray solution is kept is called as

(a) Hose (b) Container (c) Boom (d) Pump

98. Ranikhet diseases is found in

(a) Fish (b) Goat (¢) Chickens (d) Cow

99. In which year Operation Flood was started ?

(a) 1970 (b) 1975 (c) 1980 (d) 1985

100. Yellowish colour of cow milk is due to the presence of
(a) Vitamin B (b) Vitamin B,

(c) Vitamin A Precursor (Carotene) (d) Vitamin C
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92. HYH oot 1 M ITIMF ?
(a) HEA I HITS (b) it <t g3TE
(c) T&=ms (d) TrE/ETaaer fehrer

93. I fTHHT ST ST WA b TAWT o ford foman ST B, shaetran &

(a) 9 (b) BT (c) B (d) TR

94, URRIT H Tk 1Y SIS 3TV Ia9Th I I ST ST & |

(a) T TE O (b) IHH-TE-fiat A
(c) <& (d) T
95. frmferiaa # @ ford e feet w1 Eea AFTSITAT R 2
(a) ST AUH IT  (b) His B8R (c) BAARBSEW  (d) I

96. &t gt & feteh ol T T Tohet uered (e <1 S mT fepam SaT 8 7
(a) TAdl oAT&T (b) ATEeE &I (c) SAHEAEA  (d) HHEA

97. TRR 1 a8 9T o & foham ST arett =t T&1 ST 8, HEATTR |
(a) B (b) e (c) M (d)

98. THIEd U T 9T ST # |
(a) TSt (b) s (c) gt (d) T

99, 3TTRIM FeTe fohd I H & B3 T 7
(a) 1970 (b) 1975 (c) 1980 (d) 1985

100. T % g & fiemom =1 Ifedfd o SR B & |

(a) forerfim B, (b) fef@ B,
(c) Taerfim A ferer (Hufe) (d) faefim C

SSE ' 23 Series-A



Space For Rough Work / % S & foe srg

Serieck Y SS E




